Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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%, Max. Marks: 80

om each module.

Define the primitive network, Give the representatlon of primitive network in impedance

and admittance form. e (06 Marks)
The primitive admitta of lines are as shown in Elg Q1(b). Form the Ypys using Singular

(10 Marks)

1) Tree ng11) Co-tree 1ii) Basm g;utsets {06 Marks)
In thé. _power system shown m “Fig.Q2(b), the hne l — 2 has the series impedance of
(0 04+ J0.12)pu with ncghble line charging. The generatmn and load data is in the table.

Generatlon (pu) Load in pu

b o = =

)3 - 0.6 0.2

e

o Aood  CcMRIT LIBRARY
»\;,:L%“ T Flg Q2(b) N‘ ‘(_7 ;LJ!'I‘E: .JE, J 0’11?
The slack bus in ll_ The voltage at bus 2 is to be maintained at 1.05pu and the generation
at this b has Q- generatlon limits between 0 and 0.5pu. Determine voltage at bus 2 at the

%@ Auteratlon using GS load flow method. (10 Marks)
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Module-2 <
3 a. Explain the algorithm for fast decoupled load ﬂow,.,‘analysw clearly starting the assumptions
made. N % A (08 Marks)

Fig.Q3Q§g) & (08 Marks)

, iy " (08 Marks)
b. Compére Gauss — Seidal and Newton Rampson method of load flow analysis. (08 Marks)

w

‘operatmg at all tlmes‘* and total load varies from 40MW to
250 MW. The maximum and'minimum loads on’each units are to be 125MW and 20MW
respectively. How will load be shared betw he two units as system load varies over a
“fuel range? For 150MW, what are the corresponding values of each plants and its

Wi

incremental cost. (08 Marks)
OR
6 a. Describe dynamlc programming method for computation of optimal unit commitment.

(08 Marks)
b. With a usual notatlon derive the generalized transmission loss formula and
B — co-efficient. | (08 Marks)
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7 a. Explain power System static security level classification. (08 Marks)
b. Discuss the problem formation and procedure of optimal scheduling for hydro thermal plant.
(08 Marks)
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OR & o
Explain with the help of flow chart, optimal lo d‘“ﬂow solutions. (08 Marks)
Explain the state space method used for power _ystem reliability evolution. Explain loss of
load probability. Pe (08 Marks)

Explain the modified Euler’s ] ing equation for transient
stability studies. ' (08 Marks)
Form the Zpys for the power system shown in Fig. Q9(b) usmg Zgys building algorithm.
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(08 Marks)

(08 Marks)
(08 Marks)

link is added.
Discuss the steps fer determmmg multi machme stability.
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